[image: image1.jpg]aat





CBT Practice test model answers

Budgeting (BGT)

Practice assessment 2

Section 1
Task 1.1
[image: image2.png](a) Match the data in the first column with the appropriate source in the second column.

Click a box in the left column then one in the right column. To remove a line, click on it

Purchases
Tedger
Gifice for
Information on Ratondl
Value Added Statiaties
Tax (VAT) rates
Financial Times
Demand for a
new product [Market research
Ourtopten SWOT analysis
suppliers by
value
Her Majesty's
Customs and
Revenue web
site





Task 1.1, continued
[image: image3.png](b) Who would you contact in each of the following situations?

Click a box in the left column then one in the right column. To remove a line, click on it.

You want to
lexplain a labour Advertising
rate variance department
‘Human
resources
You want to TEnsger
lexplain a labour Marketing
efficiency director
variance
Budget
committee
You want to
forecast next Production
year's sales manager
revenue -





Task 1.1, continued

[image: image4.png](c) Drag each item of cost below to its appropriate budget.

Caital expenditure

‘Sales and Warketing

Factory extension ‘Salaries of sales personnel
Advertsing costs
Distribution Costof Production
Factory rent and heating costs
‘Order for production materials

‘Maintenance cost of delivery vehicles.

Finance and aministration

‘Senicing of computers

Printing of application forms





Task 1.1, continued
[image: image5.png](d) Select an appropriate accounting treatment for each of the following costs.

Cost

Administration wages
Depreciation of delvery veficles

Overtime pay for procuction workers

Repair of offce computers

Prining of feaflets for new product
Waintenance of production equipment
Hiring of specialised machine for production

Mobile phones for sales staff

Accounting treatment

[ocste o samnstame ovemeais

[ocste o asiouton oremeass

[Erarge o producion 2 abourhour vemead ate

[ocete o saminstame ovemeats

[ote o mareeting ovemease

[Eraree o producion 2 machine hour ovemeadrae

et

[ote o mareeting ovemease





[image: image6.png](a) Complete the following production forecast for product P.

|opening inventory

lProducion 10000
lsub-tota 12400
lsales 9600
[closing inventory 2600

Closing inventory should be 25% of forecast sales volume for the following week.

‘The quarterly production requirements for product L are shown below.

15% of production fails the quality checks and must be scrapped.

(b) How many items of product L must be manufactured each month to allow for waste?

[Required units

153,000]

[Manufactured units

180000





Task 1.2, continued
[image: image7.png](c) How much material must be purchased?





[image: image8.png](d) How many overtime hours must be worked to complete the production?

2500

100

2400





Task 1.2, continued
[image: image9.png]{e) Calculate the machine hours needed to manufacture these in November.

I 600) 15| 900
B 500) 30 1500
lc 700) 20 1400
[Total

3800

There are 8 machines in the department.
‘Addiional machines can be hired f required.
Each machine can be used for 326 hours in December.

How many additional machines should be hired?

2





Task 1.3
[image: image10.png](a) Complete these three working schedules.

Materials.
‘Each unit produced requires 0.8kg of material.
Closing inventory will be valued at the budgeted
purchase price.

Labour
Each item takes 5 minutes to produce. 14 staff work 200
basic hours each in the period. Overtime is paid at 35%
‘above the basic hourly rate.

Overhead
Variable overhead s recovered on total labour hours.
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Task 1.3, continued
[image: image11.png]{b) Now complete the operating budget.

Enter income, costs and inventories as positive
figures.

Closing finished goods inventory wil be valued at
the budgeted production cost per unit.

Use anegative figure to indicate a gross loss, for
example -500 or (500).

Use anegative figure to indicate an operating
loss, for example -500 or (500).

rating budget

[sales revenue 38000 5.10) 193800
[Costof goods sala:

[opening inventor ofinished goods

[Costofprocuction

[Waterials 77800

|Labour 34075]

[overnead 7075]

[Glosing iventory of finished gaods 12200
[Cost ot goods sala 113750)
[Gross proft(oss) 80050
loverneads

[pdministration 2800

[Warketing 3800

|operating profitioss)






Task 1.4

[image: image12.png](a) This year the sales revenue is £700,000. Analysis of recent years shows a growth trend of 4% per year.

‘The seasonal variation has been:
quarter 1 -£6,000

quarter2 -£2,000
quarter3 +£9,000
quarter4 -£1,000

Forecast the sales revenue for each quarter of next year.

1 178000
3 180000
g 191000
A 181000
Ivear 728000






Task 1.4, continued
[image: image13.png](b) Calculate the sales revenue and cost budgets for May from the following data.

|units sold 55000 4500

|units produced 58000 4800

Each unitis made from 2 kg of material costing £3 per kg

Ittakes 12 minutes to make each item.

700 hours of basic time is available in the month. Any extra hours must be worked in overtime
The basic rate is £12 per hour. Overtime is paid at 25% above basic rate.

Variable overhead relates to labour hours, including overtime.

Fixed overhead costs are incurred evenly through the year.

|sales revenue 605000 49500
[Material used 348000 28800
|pirect lavour 148800 12300
|Variable production overhead 9,280 788
[Fixed overhead 4,800 400





Task 1.4, continued
[image: image14.png](c) Prepare a Cash forecast for May from the following budget data.

Invoiced sales revenue 9000 9250| 9,100 2400
Purchases 4100 3800 3100 3650
Wages 100 1250 1100| 1250]
Otner overheads 2200 2300 2400 2040
Capita expenditure so00 o o 4000




 
[image: image15.png]|opening cash balance 1.255|
|customer receipts 9250
[Payments

[Purchases 4100
[Wages 1100
|overheads 2300
|Capital expenditure 0
[Total 7500
|closing cash balance 3008






Task 1.5
[image: image16.png]\Write an email to the Production Director:
(a) Explaining the calculations and assumptions and requesting his approval.

(b) Describing how the impact of external factors in the environment and any specific external costs
‘could affect the budget forecast.

Answer
To  Production Director From  Budget Accountant
‘Subject Direct material budget Date oo

(a) Budget submission




[image: image17.png][ attach the proposed direct material budget for next year for your consideration and approval.

[ The agreed production pian indicates an increase i volume to 750,000 units next year. No change in productiy has been assumed. It also.
[assumed that wastage of material in production will remain constant at 5%.

[The purchasing manager estimates thatthe price of material willincrease by 10% to £330 per kg.

Prease et me know ifyou need any further nformation





Task 1.5, continued


[image: image18.png](b) Impact of external environment and other specific external costs




[image: image19.png][There are several factors in the extemal environment and other specific extemnal costs which could affect the budget forecast

Possibilty of materal price increases ifthere is a world shortage of cotton
Impactof changss in e world economy, eg banking cisis, threat of bankruptcy in EU countries.

Rise inthe price o ol aflecing transport costs.

‘Can we guarantee thatthe quality will remain the same? Ifthe qualty of material s poor then more wastage wil be incurred.
‘Can we ely on our source of supply?

[Pius any othervalig suggestions.
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 Task 2.1
[image: image21.png](a) You are asked to prepare a revised operating budget in the Revision column below and calculate the increase or
decrease i profit that would result.

You should assume that the selling price will be increased by 5% and sales volume will fall by 10%

: ;
— PR





[image: image22.png](b) Calculate the revised salary budget

£

199,500





[image: image23.png](c) Calculate the material cost forecast

£

[220.000






Task 2.2
[image: image24.png]Complete the Operating Report below:

[Bales revenue (70,000 units) | 2800000| 2.940000|  140000)
|costs

[Material 490000| 525000  -35000)
|Labour 630000| 634400 -4400)
|Distribution 7000 7,200 200
|Eneray 160000 161000  -1000
[Equipment hire 36000| 35,000 1000
[pepreciation 182000 180,000) 2000|
[Marketing 225000| 230000 -5000)
|Administration 186000 189,000  -3000
[Total 1916000| 1,961,600  -45600
|operating profit 884000| 978400 94400)





Task 2.3
[image: image25.png]To  The Chief Executive From  Budget Accountant
Subject Review of Operating Statement Date oo

() Reasons forvariances

[Inave reviewed the resuts for the period. Profitin the month was £781,000 driven by a 10% sales price improvement over budgst and increased
volume. After flexing the original budget to allow for the increased volume we are reporiing adverse expense variances of £43,000.

[The only significant favourable expense variance is labour (£39,000). This is one costwhich you might expectto be adverse because increased
workloads tend to create high overtime costs. This was avoided by using temporary workers and cost savings were made.

[aterial costs were 8% over budget The increase in one of the component parts does not adequately explain this variance. We needto investigate
[whether the use of temporary workers, and the demotivating impact of this on the permanent staff, may have led to higher levels of material wastage.
it may be preferable to use our own staff at overtime rates

[arketing costs were £7,000 over budget, no doubt due to the costs of the advertising campaign, andthis seems to be money well spent.

The aaministration overspend of £4,000 is worrying and needs to be investigated. It could have been a one-off. Aternatively, perhaps there are.
variable costs such as overtime or bonus that should not have been budgeted as fired costs.





Task 2.3, continued

[image: image26.png](b) Justification for the uses of budgetary control

[Budgets are useful for planning, coordination, authorisation and cost control as outined below.

[Planning - The preparation of a budget enables management to look ahead, to plan how it will achieve its targets and the resources itneeds to
enable itto o so, thus having more control over ts future.

Co-ordination - By involving and communicating to each person affected by the budget plans, this helps to maintain better overall control and
also0 helps ensure that al depariments are working towards the same goal

[Authorisation - Better budgetary control is achieved when responsibiliies are assigned to indviduals for all aspects of the budget as well as clear
lines of authority for decision making.

[Cost control - Producing budget forecasts enables the continuous process of comparing the actual results againstthe budget This allows any
departures from budget to be investigated and action taken where necessary.

‘Budgel Accourtant
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